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THwdwwu Jhongubph wywhnyqwsnipjudp uywnnnuuu Jupybp
Chduwwt ywjdwuubp
1.1. | Luywuwnwy Uwwnnnwwu
1.2 | <wjinh punniudwt Jup Fwuyh pninp dwutwédinintn, Sluwdwuwiht gpuubtjwy
1.3 | Updnyp << npwd
1.4 | Lywquagnyu gnwdwp 300.000 << npwd
1.5 | Unwybjugnyu gnudwp® 500.000.000 << npwd
Unyuwuniu wpdnypeny gpuyh Swpwunit wpdnypeny gpuyh
nbwpnd® Spwywnndnn nbwpnud® Spwydwnndnn
npwdwlwu dhgngubinh npwdwlwu dhongubiph
nnynuwnpnyp +1,5%, pwjg ny wnnynuwnpnyp +8%, pwjg ny
1.6 | Swpblwu wnnynuwnpnyp wwlwu, pwu Pwuyh Ynndhg wwlwu, pwu Pwuyh Ynndhg
wnwownlynn <L npwd wnwownyynn << npud
wpdnypeny dwdlybnwhu wndnypny dwdlybnwhtu
wwunubiph wnwybjwgnyu wywunubiph wnwybwgnyu
nwpblwu mnynuwnpnypp: wnwnblwu nnynuwnpnypp:
7 | Swntywl thwunwgh Uluwd 9.94%-hg
wnnlynuwnpnyp
1.8 | dwdlytwn Udwunh dwdybuinny, uwlwiu ny wyb, pwu 60 wdhu
1.9 | Uywhndywdniejniu Pwulynud ubpnpwéd dwdybivnwiht wywun
Unyuwuniu wpdnypeny gpuyh Swpwunit wpdnypeny gpuyh
ntwypnid ntypnud’
110 Jwply/gpwy wnwybjwagnyu Spwyh wpdnypp UUL nnwp
' hwpwpbpwygnieniu** 949 Ywd 6Ypn' 80%
Uhgounpnwyéwpubp
“thdnwd-hwyuinh
21 nwuntduwuhpniejwu yéwp 2h uwhdwbynd
Spwdwnpdwu
2.2 | (Bpyupwaqdwi) 2h uwhdwuynud
dhgunpruwiyéwp
2.3 | dwpyh uywuwpydwu Yyéwp 2h uwhdwuynuwd
dwpyh mpwdwnpnud b uyuuwpyned
Uulwutupy' Pwuynd hwbwfunpnh wuniuny pwgqwd
3.1 | Spwdwnpdwu tnwuwy awllwpty/puipnuht hwodht
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Jdwpyh nmpwdwnpdwu Yupg

Upwudwg

Pwulwihu hwayh

Cwdwdwju Pwuynd gnpdnn Pwulwiht hwohyubtiph pwgdwu b

3.3 | pwgnuwy/pwnywdpubinh
wpwdwnpnid uwwuwndwt vwlwqubiph nu wwydwuttph
dwnyh gnwdwph
34 | Jubuplwgnud hwdwéwju Pwulh uwlwqubnh
35 Jdwnyh dwjp gnidwnph 1. Wiktwdujw hwjwuwpwswih dwpnwdubip (wunthunbin)
" | Jwpnuwubp 2. dwplyh dwdybtnp ybponid
3.6 | Snynuwgnuwph dwpnwiubp 1. Wibtwduw hwqwuwpwswih dwpnuiubip (wunthnbin)
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dwpYwnnihtu b

gpwywuwintht ubpluywgynn wwhwugubp

4.1 | dwplwnnt 18 mwpbywup [pwgwd Phghlwlw wud
YJwpywnnt jud Pwulyh htn wjwunwiht wywjdwuwaghp Yupwd wy
4.2 | Gpwywwnnt $hahlwliwl wd
JwpYwnnih/gpuwywwnnth
4.3 | Juwpluwjhu ywwndniejwup QU uwhdwuynd
ubplywjwgynn wwhwueubin

4.4

Jwpywnnth unpywjhtu
wwnpunwynpnigjniuubiph
uywwndwdp ywhwugubin

26U uwhdwuynwd
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4.5 | gpwugdwt Ujwwndwdp 26U uwhdwuynd
wwhwueubip
4.6 Uuduwlwu nyjwiubph e poowhu htnwiunuwhwdwph wnlwjnyentu
| blyuwwndwdp wwhwugubp o biyunpnuwhtu thnuinh hwugbh wnlw)jnyentu
QGpwyh wnwpluiht ubpluyugynn ywhwugubp
Npwbu wqwun Pwuynd ubpnpwd npwdwlwu dhongubip b npwg
o1 | Snuih wnwplu uywwndwdp ywhwugh hpwyniup
Uty Jupyp Ywpnn £ wywhnyqwsd phub) Pwuynd ubpnpdwsd dh
Spwywnpynn npwdwlw
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UJwunwjht wwjdwuwagpny Pwuynd ubipnpjwd wqwunp b npwug
ujuundwdp ywhwugh hpwyniupp Yupnn Gu hwunhuwuw) gpwyp
wnwpYw, bl npwugnw upqwd dhongubtipp.
1. wpgbjwuph wnwy sku,
Spwyh wnwpluwih 2. sbu hwunhuwund wy (wyn eYnd’ Bppnpn wudwug
5.3 | bywwndwdp wpwdwnpywd) qupyh (Juplwihu gdh, Gpwatuhph b wy
uwhdwuwthwynidubip wwpunwynpnigjwt) wwwhnydwt dhong hwunhuwgnn gpwyh
wnwnplw, pwgwnniejwdp wju nbkiwpbph, Gpp npwugny wwywhnyywsd
pninp, ubipwnyw| unp npwdwnpynn, Jupybph hwupwagnidwnph
hwdwp ywhwwuynud £ Juwplywunbuwyny uwhdwudwd
wnwybwgnyu Jupl/gpwy hwpwpbpwlygniejniup
Snyd/wmniqup
dwdytinwug upyh gndwph
6.1 | gdnd nwpblwu 24%
wnnlynuwnpnyp
dwdybtinnwg
6.2 | wnynuwgnidwpubph gény 48%
wmwpbljwu nnynuwnpnyp
dwplyh gnwdwph
wdpnnoniejwdp Ywd
6.3 | S Liwqwdwdqu 2h uwhdwtynud
dwpdwu nbwpnid
Uwywhnydwtu dhongh hwayhtu JupYyh dwpnid
Pwulu hpwyntup niuph hpwlwuwgubp gpwyh (wdwunh) hwadhu
Uwwhnydwu dhongh hwayht wwpuwynpnyeyniuubph dwpnud hbnlyw| upgny'
Jwnlh (Jwyp gnuwph,
wnnynuubiph, wmniqwupubiph,
71 wnydbtiph W wy| yGwpubipp' 1) Ywpywnnih (gpuywnnih) Ynndhg dwplyh dwpdwt dwdwuwlwgnygh
: wnjwjnipjwt ntiwpnw, wyunthbin | hwdwdwu hippwlwl dwpdwt wwpwwynpnpinip sywwnwnpytint nbwpnu
twl' Ydwpl) dwpnud (dhtgle Junlh gnpdnnnipjwt wjwpunp) pupwghly wwpwnph swihng
(tpwdwlwu dhongubiph gpuyny | hpwhwuwgub) gpwidh (wdwunh) gnwwph Udwatignid U pupwghy
Jwpltiph nbwpnid) wwpwwynpnijwu dwpnw, hul wjwunh duwgwd dwup swpniuwynd £
uywuwnyytiy wjwunwht ywjdwuwagph wwydwuutiph hwdwdaw)u:
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7.2

2) Ujwunh hwoyht dwpdwu dwdwuwywgnygh hwdwdwiu upyh
pupwghy wwnunwynpnipjwu wywnndwwn tpynt hbppwlwu dwpnwiubiphg
htinnn hwéwfunpnh Ynndhg dwpdwt dwdwuwlwgnygh hwdwdwju
wwnuwynpnipjwu htippwlywu sydwnpdwt nbiwypnu hpwlwuwgub)
Juplwjht wwpnwynpniggniutbiph swihng gpuigh (wywunh) udwqbgnud
(wwunp wdpnnonipjwdp gpwy hwunhuwtwnt nbwpnd’
wuhpwdbtipnnigyuu nwpnid wjwunwiht wwydwuwgnph ndnid) b Ywnpyp
wdpnnowlwu dwpnd wjwunh gnwwph hwayhtu: Uu nbwpnud, Gpp
wywunh hwayht Ywpyh wdpnnowywt dwpnuwihg htinn wnwowunid k
npwywu wnwppbpnint’ gipwquiugnn gnidwpp hnfuwugynid £
Ywplwnnth (gpuwywwnnth) pwulywiht hwayht: Cun npnud* wjwunh
uywuwndwdp hwoywpyynn nnynuubiph yepwhwoywnyp hpwlwuwgynid £
wywunwiht wwjdwuwagnh wwjdwuubph hwdwdwju:

3) dwnyh dwpdwu ytpsuwdwdytinhu Ywplyu wdpnnonigjudp dwpywd
sthubnt nbwpnud Yud Ywplyu wdpnnonipjudp dwdybunwugybint nbwpnid
hpwlwuwgub] upyuht wwpnwynpnigniittiph swihny gpuidh (wjwunh)
ujwgbignud (wjwunp wdpnnonipjwdp gpwy hwunhuwuwnt nbypnid’
wuhpwdtipnnipiut nbwpnud wjwunwiht wwjdwuwgnph nénwd) bW Ywpyh
wdpnnowlwu dwpnd wywunh gnwdwph hwadhu: Wu nbiwypnid, Gpp
wywunh hwayhtu Ywpyh wdpnnowywt dwpnuwihg htinn wnwowuntd
npwlwl nwppbipnienit’ gipwquugnn gnwdwpp hinfuwugynid £
Ywplwnnth (gpudwnnth) pwulywihu hwayht: Cun npnd® wjwunh
uywwndwdp hwoywpyynn wnynuubph yepwhwoywnyp hpwlwuwgynid £
wywunwjht ywjdwuwgph wwjdwuubph hwdwdwyu:

2. Ywpluwnnth (gpwywunnth) gwuynipjudp Jupyh gnpdnnnipjwu
pupwgpnud Yuwd ybpguwdwdytitnhu Ywpnn £ (niddl) wjwunwhu
wwjdwuwghpp L gnwwpp ninnyb; Ywpyh wdpnnowlwu dwpdwup: Cun,
npnuwl, wjwunh dwdybwnp pugwsd sihubnt nbwpnud wjwunh tlwwndwdp
hwoqwnlyynn innynuwgnidwnpubiph yepwhwoqwnyp Yuwmwpynd §
wywunwiht ywjdwuwgph hwdwdwju:

dwpyh Gplupwaégnid

Jdwpyp Gplwpwaqdwu
wwjdwuubp

Jdwpyh Gpywpwagndp hpwwuwgynud £ hwbwlunpnh nhdnwh
hwdwdw)u, hbnlyw) Ywpgny'

1. UJwunh bplupwagwsd dwdytnh swihny, pun npnud'
Bpywpwdagnuihg hbnn Jupyh dwdybunp swbwnp £ gbpuquugh
wwjdwuubpny uwhdwudwd wnwybjwgnyu dwdybwp,
pwgwnnijwdp M nnplh wpdnyeny gpwyh nbwpnid, npp
dwdwuwl dwdybunp uwhdwugnid | wuhwwnwwbu

2. Snynuwnpnypp uwhdwuynud b hwdwdwju 1.6 Yhwnh,
pwgwnnipjwdp M} nnplh wpdnyeny gpwyh nbwpnid, npp
dwdwuwy nnynuwnpnypp uwhdwuynid £ wuhwwnwwbu, yupyh
duwgwd wwydwuubipp sbu ytipwuwjynid:
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3. dwnyh Gplwpwéagiwu nhdnwp hwéwiunpnh Ynndhg
ubipyuywgynid £ ng np, pwu qupyh dwdyticnh wwnpwnhg 2
w2luwwinwupwiht op wnwy

dwpyh wpwdwnpiwt/Gplupuésgiwt yepwpbpjup npnadwtu Yujwgned

9.1

Ypwlwt npnpdwu gnpdnuubip

Jwplywnnit/gpuwunniu, htswybu twb gpudh wnwplywu
pwywpwpnd U unytu Jupuwnbuwyng uwhdwujwd wywhwugubiphu

9.2

Npnadwt Ywjwgdwu dwdytin

Unwybjwagnyup 1 wofuwwnwlupwjht op

9.3

dwnyh
wnpwdwnpdwt/Gplupwaqdw

dwdlybin

Npnodwt Ywjwgnudhg hbinn wnwybjwgnyup 1 woluwwnwupwiht op

* ULy nfuwnnih uwhdwswihp sh Yupnn qpuwquugb) 100.000.000 << nppwd

** Swpwunit wpdnypubtpph nwypnid Jupyh hwuwubih gnuiwpp hwaupyynd £ hhdp
punnubiny upyh wpwiwnpiwu ywwhpn £ YA vwhdwujwé thnjuwpdtpp:

2qnugnd’
Cwbwfunpnh Ynndhg nnYnuwgnidwpubph b Jupyh gnidwpubph Jwpnwdubpp dwdwuwyhu
squwuwpbnt nbwypnid wyn Jwuhtt mbnEYwwnynipyniup Yupwdwnpyh <€ Usunpnuwlwu Pwuyh
JwpYuwyhtu nighuwnpphu b ULMU Lptnhun Nhthnpnpug PPL-hu:




